
EXPLOSIONSZEICHNUNG

KBS Gastrotechnik GmbH – Schoßbergstraße 26 – 65201 Wiesbaden

www.kbs-gastrotechnik.de 
Stand September 2024 

*Für Druckfehler keine Haftung



S/N Description (English) Material Specification Part Code Unit QTY

1 Door lower cross beam SUS 304 1.0mm 570*44*1.0mm 802005013001 1

2 Outer toughened glass Tempered Glass 448*577*5mm 70201005337L 1

3 Screw SS M4*8 4

4 Door side plate SUS 304 0.8mm 516.5*108.5*0.8 2

5 Door hinge Zinc Alloy 70200402637 2

6 Screw SS M5*8 2

7 Door Handle End Bakelite 70200700164 2

8 Inner toughened glass Tempered Glass 492*442*5mm 70201000237 1

9 Screw SS M4*8 8

10 Thermostat knob for back heating elements Bakelite φ70 70101100346 1

11 Thermostat knob base for back heating elements Bakelite φ51 70101100228 1

12 Timer indicator 220V/￠13, Green 70101300137 1

13 Indicator(heating elements) 220V/￠13, Green 70101300155 1

14 Timer knob Bakelite φ40 70101100373 1

15 Timer knob base Bakelite φ51 70101100200 1

16 Board 201  590*188*1mm 1

17 Bottom board Aluminized 1.0mm  590*568*1mm 1

18 Timer(120min) 0-120MIN ,16A 70101200119 1

19 Foot Bakelite 70200900228 4

20 Cross round head screw SS M4*8 20

21 Power cord jacket 70100700782 1

22 Power cord UK PLUG 3*1.5mm2 70100500064 3,5

23 Temperature limiter（360℃) 360℃ 230V16A 70100301982L 1

24 Grounding bolt Copper M6*20 1

25 Thermostat（300℃) 50~300℃ 70100300200 1

26 Bracket for inner chamber SS 70201100355 2

27 Inner chamber Enameled 1

28 Mounting bracket for hinge Zinc Alloy 70200402664 2

29 Cross round head screw SS M5*10 7

30 Back insulation cotton Aluminum silicated 1

31 Insulation cotton Aluminum silicated 1

32 Shell SS 1

33 Back board Aluminized 1.0mm 590*490*1mm 1

34 Motor 230V/50Hz 50W 70100101319 2

YSD-1AE PART LIST



35 Door Seal Silicone 70200200555 1

36 Illuminator holder 220V 70101300382 1

37 Illuminator 230V/15W 70101300482 1

38 Glass chimney 1

39 Heating element SS 230V/50Hz 1.26KW 70100400946 2

40 Locking screw for shelf SS M5*12 70202007282 2

41 Fan blade 2

42 Locking screw for fan blade SS M5 2

43 Air deflector 802005003004 1

44 Shelf SS 370*245mm 70201100455 2

45 Upper cross beam SUS 304 1.0mm 538*46*1.0mm 1

46 Door Handle SS ￠19*454*0.8 802005003001 1

47 Locking screw for door handle SS M5*25 2




